(B2 - 4]

SH6FEE A2RRITRERE BHER (B)

13% 29F
=] A B B (SvOB, HURSHIVE - RUISTE) (Za—+=78)
P =]
(5] v (=) TB R B®E BRI i (=) ‘ TB R E®E
1| 9A48 |XK [#&EIX]
Pz pi=|
2| 9858 |A&| 10:20 |3 B % |(NH855)
16:00 |2 v H L & &
v LY =
3| 986H |& [f£1 > RS 7 AXREAFERERE]
14:10 |2 v H )L 9 F | (GA572) 14:00 | v H L & F | (SI580)
17:25 )VU 2 )0 > & 17225 1% A v 9 L&
RUZ)U> A YL P}
4| 9A7H |* VD) BB EE] [RH Yy BIVEDKE]
18:40 )T U 27 JC)C > F | (1U694)
19145 |9 S5 H > &
FSH> bzl JAOvHIL =]
5| 988H |H [55h>Bl#EF] 06:10 | # v B JLF | OT784)
09:55|% J & O UK
R/ UTUIE]
FSH> = /oI piz|
6| 9898 |A|10:30 | S H > F | (JT534) 08:25 ' % J o O U % | (7788
13:30 (¥ B v B L&A 10:05 2 v ¥ J S &
[Sv VYT SADYE]
JAOvHIL bzl SvvIS =
7| 98108 |X| 03:15|% H w B JLF | (37938) T v v T SR | (Fr-v-#)
07:05 | & AR | o v =&
[E7UBiE] BV ABKEF]
> L =%
T v v IJ SE
E7o bzl SvvIS bzl
8| 98118 |k 09:45 |2 > & % | (JT939)
11:05 & 7 &
[EFEENR] LEEMREDE
e7o A
9| 98128 | K| 11:45 | 7 o F | (T709)
13:30 (¥ A v B L&A
14:15 % 7w B L% | 0T797)
15:35 | v H L H &
v LY =
10| 9A138 |£| 07:10 | v H JL & F | (NH872{®)
16:35 |3 H &
[#2EIX]

X BREE. MEHOEMRRRURINBESCLDEET DI LN DS,
X MEFEMESSMBELEDRRCEIDEEIZZENHD.



FH

g A

FRITHEE

ey ﬂ/“;\j

25hY

7

|
’
r/‘\./.»/
cr—

)
’

\

/\'J IAYAYY,

/
I

5

T

OxhILE

../\

UYIE

ThyHIL

)
(i~

\ )
ST

JV‘?
i > AIYVIVE

Wi #BR

y




